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1} Semester 2016-2017 MEATOS: Workshop Practice 20 April 2017
Inséructions:
Write legibly
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Sciendific and non progranunable caloulators are permitied
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Part A
(2 x4 M= 8 Marky)

Write the mechanisim and [catures of metal culling process?
What are the desired properties of cutting fluid and name any two cutting fluid.
Part 3
(FQx FO M= 10 Marks)

Explain briefly any five Latle operations with suitable sketehes.

Part
{20 x 6 M= 12 Marks)

A diamond-cutting toof when machined with other diamond work picee malerial at a culling speed of
3l m/nin lasted for 100 minutes. Determiine the life of the lool when the culting speed is increased
by 25%. Al what speed the (ool 18 10 be used to get a tool life of 180 minute. Assume n = 0.26

From a raw material of 100 mm length and 10 rim diameter, 2 component having length 100 mun
and dtameter 8 mm is fo be produced using & culling speed of 31.41 mémin and a feed rate of 0.7
mm/revalution. How many limes we have to re-sharpen or regrind, if 1000 warkpicees ars 1o be

produced, Assume = 1.2 and ("= 184,
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Inslrnetioms:
Lo Write lepibly
. Scientific and non-programmable caleulators are permilked
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Part A
(3 Qx2M=6 Marks)
I. Pefine the term ‘Manufacturing’ and mention the fve categories of manulaciuring process.

2. Briclty explain different types of production techntques with suifable examnple,

3. Define the torm quaiily and how does 1 aid in increasing the brand value of produc.
(2 Qx5 M= 10 Marks)

A, Gxpluin the folfowing terms brieily.
a. Accuracy b Precision o Tolerance d. Rehiability and e, Quality coutro!

5. Define the term fits and linvits. LExpiain different types of fils with a neat skelch.

Part C
{20 x 7 M= 14 Murks)

6. Let the size of balt and nut are a5 {olows,

018
Bolt: 17.55 180
+ 00024
+0.015
it [P
Nt 18.5( oy

8} Iind the type of tolerance given Jor bolt and nul.
) Find the iype of 1it between bolt and nut,

e} Specify the best manufacturing process for boll and nut.

7. Explain briefly Inlerchangeabilily with an cxample. Do you think intcrchangeability helps in

reducing the number of rejects? Justif V.
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